
PLACE LABEL
Q14171-SK
HERE

 01942 524100

CSEurope@dorel.com

2800

Dorel Home Furnishings Europe Ltd.
Building 4, Imperial Place, Maxwell Road, Borehamwood WD6 1JN



PLEASE KEEP THESE INSTRUCTIONS FOR FUTURE REFERENCE
DOREL HOME FURNISHINGS EUROPE ACCEPTS NO LIABILITY FOR ANY DAMAGE CAUSED THROUGH
INCORRECT OR INAPPROPRIATE USE OF THIS PRODUCT.

2800



A

ED

C

F

x5

x1x1

x1B x1

x2

J

3

G x1

I x1 R x1

S x1 H x1

x12(M8*30)

N

Q x1(M3)P x1(M4)

O x1(M5)M x2(M6*30) x6(M6*14*1)

K x12(M8*22*1.5) L x4(M6*35)

2800



1 2

3 4

5 6

4

Take out two screws on part"S

S

S

S".

Q

S

Insert"H"part into" "then assemble
two screws back and tweak tightly.

Q

S

Connect "  "and "F"according to picture.

S

Put"K"under"J",insert both of them
Into holes and tweak tightly

K

O

S

Put"I"part upon" "part ,press until tight.

H

S

E

According to the picture,use 
screws to connect mechanism and back frame

K o
S

2800



7 8

9 10

4

E

F

o

N

L
M

N

L

N

Assemble armrests same picture

S

Loose out the screws at the two side of “R”

R

R

Put “R” to “ ” at the right pos ition then
tighten the two screws .

P

A

B

C

D

E

F

G

S

H

R

2800


